Václav Tryhuk An oscillation criterion for a canonical form of third order linear differential equations

Archivum Mathematicum, Vol. 13 (1977), No. 3, 175--180

Persistent URL: http://dml.cz/dmlcz/106974

Terms of use:

© Masaryk University, 1977

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

ARCH. MATH. 3, SCRIPTA FAC. SCI. NAT. UJEP BRUNENSIS XIII: 175–180, 1977

AN OSCILLATION CRITERION FOR A CANONICAL FORM OF THIRD ORDER LINEAR DIFFERENTIAL EQUATIONS

VÁCLAV TRYHUK, Brno (Received July 6, 1976)

1. Introduction

A linear differential equation of the third order of the form

(R)
$$y''' + p(t) y'' + q(t) y' + r(t) y = 0,$$

where p(t), q'(t), r(t) are continuous on $[a, \infty)$ was studied by several authors, namely Hanan [3], Lazer [4], Ráb, Singh [9], [10], Švec and Zlámal [12] in the case $p \equiv 0$. This equation (R) in the form

(S)
$$y''' + p(t) y'' + 2A(t) y' + (A'(t) + b(t)) y = 0,$$

where 2A = q, A' + b = r for $A \leq 0$, $p \equiv 0$ was investigated by Greguš [1], [2] and Moravský [5]. Some new results were obtained by Regenda [8].

A new canonical form was derived by F. Neuman [6], [7] for a linear differential equation of the n-th order of the form

(T)
$$y^{(n)} + a_1(t) y^{(n-1)} + \ldots + a_n(t) y = 0,$$

 $a_i \in C^0(I)$ for i = 1, 2, ..., n; *I* is an open interval (bounded or unbounded). Here $C^n(I)$ denotes for $n \ge 0$ the class of all continuous functions on *I* having here continuous derivative up and including the *n*-th order. This canonical form is global, i.e. each linear differential equation of the *n*-th order can be transformed into the form on the whole interval of definition, on the contrary to local canonical forms due to Laguerre – Forsyth characterized by $a_1 \equiv 0$ and $a_2 \equiv 0$.

This general canonical form depends on an interval of definition and n-2 positive functions $\alpha_i \in C^{n-i}$, i = 1, 2, ..., n-1.

For n = 3 the canonical form (see [6]) is

(U)
$$u''' - \alpha'(x)/\alpha(x) u'' + (1 + \alpha^2(x)) u' - \alpha'(x)/\alpha(x) u = 0,$$

 $\alpha \in C^1(J)$ and $\alpha(x) > 0$ for $x \in J$.

In this paper oscillation properties of solutions of the linear differential equation

of the form (U) for $J = [a, \infty)$ are studied and some generalizations of the results in [11] are obtained.

2. Basic relations

It can be verified through differentiation that for (S) on J the following identities. are satisfied. If we denote $L(t, a) = \exp \{ \int_{a}^{t} p(s) ds \} > 0$, $F[y(t), a] = (y'^{2}(t) - 2y(t) y''(t) - 2A(t) y^{2}(t)) L(t, a)$ and G[y(t), a] = (y''(t) + A(t) y(t)) L(t, a), then

(F)
$$F[y, a] = F[y(a), a] + \int_{a}^{b} (py'^{2} + 2(b - Ap)y^{2}) L(s, a) ds,$$

(G)
$$G[y, a] = G[y(a), a] - \int_{a}^{b} (Ay' + (b - Ap)y) L(s, a) ds,$$

(H)
$$y''(t) L(t, a) = y''(a) - \int_a^t (2Ay' + (A' + b)y) L(s, a) ds.$$

In the proofs of some theorems in the papers [4], [9] there is used the procedure given in the form of the following.

Lemma 1. Let $u_i(t) \in C^r[a, \infty)$ be functions, c_{in} constants, i = 1, 2, ..., s. Let the sequence $\{y_n\}$ be defined by the relations

$$y_n = \sum_{i=1}^{s} c_{in} u_i, \qquad \sum_{i=1}^{s} c_{in}^2 = 1.$$

Then there exists a subsequence $\{n_j\}$ such that $c_{in_j} \rightarrow c_i$ and $\{y_{n_j}\}$ converges on everyfinite subinterval of $[a, \infty)$ uniformly to the function

$$y = \sum_{i=1}^{s} c_i u_i, \qquad \sum_{i=1}^{s} c_i^2 = 1$$

as $n_1 \rightarrow \infty$ such that

$$y^{(z)} = \sum_{i=1}^{s} c_i u_i^{(z)}, \qquad \sum_{i=1}^{s} c_i^2 = 1, \qquad z = 0, 1, 2, ..., m \leq r.$$

The next two results were proved in [8].

Lemma 2. (Lemma 2.1.) If $p(t) \ge 0$, $A(t) \ge 0$, $A'(t) + b(t) \ge 0$, and $b(t) - -A(t) p(t) \ge 0$ and not identically zero on any subinterval of $[a, \infty)$, $\int_{a}^{\infty} p(t) dt < \infty$ and $y(t) \ne 0$ is a nonoscillatory solution of (S), which is eventually nonnegative with

$$0 \leq F[y(c), c] = y'^{2}(c) - 2y(c) y''(c) - 2A(c) y^{2}(c)$$

 $(c \in [a, \infty)$ arbitrary), then there exists a number $d \ge c$ such that

 $y(t) > 0, y'(t) > 0, y''(t) \ge 0$ and $y''(t) \le 0$ for $t \ge d$.

Lemma 3. (Theorem 3.3.) If $p(t) \ge 0$ and $b(t) - A(t) p(t) \ge 0$, and not identically zero in any interval, then (S) has a nonoscillatory solution.

3. Further relations

Theorem 1. Let $p(t) \ge 0$, $A(t) \ge m > 0$, $A'(t) + b(t) \ge 0$ and $b(t) - A(t) p(t) \ge 0$ ≥ 0 be not identically zero on any subinterval of $[a, \infty)$. If $\int_{a}^{\infty} p(t) dt < \infty$ then any solution which vanishes at some point is oscillatory.

Proof: Let c be a zero of the nontrivial nonoscillatory solution y(t). Then $F[y(c), c] = y'^2(c) > 0$ and from Lemma 2 there exists a number $d \ge c$ such that y(t) > 0, y'(t) > 0, $y''(t) \ge 0$ and $y'''(t) \le 0$ on $[d, \infty)$. Let $t_0 \in [d, \infty)$ be a zero of the function y''(t). From (H) we have

$$y''(t) L(t, t_0) = -\int_{t_0}^{b} (2Ay' + (A' + b) y) L(s, t_0) ds < 0,$$

thus y''(t) < 0 on (t_0, ∞) The function y'' must be positive for all $t \ge d$. Then lim $y(t) = \infty$ as $t \to \infty$ and $G[y(t), d] = (y'' + Ay) L(t, d) \ge my$ is the unbounded function according to (G). But we have also

$$G'[y, d] = -(Ay' + (b - Ap)y)L(t, d) < 0$$

on $[d, \infty)$ which is a contradiction, and the solution y(t) is oscillatory.

Lemma 4. Let $p(t) \leq 0$, $A(t) \geq 0$, $A'(t) + b(t) \leq 0$ not identically zero on any subinterval of $[a, \infty)$ and $y(t) \equiv 0$ be nonoscillatory solution of the equation (S) satisfying the inequality F[y, a] > 0. Then $c \in [a, \infty)$ exists such that for all $t \geq c$ there holds y(t) y'(t) > 0.

Proof: Let y(t) be a nontrivial nonoscillatory solution of the equation (S). Let t_0 be its last zero. If y is nonvanishing on $[a, \infty)$, let t_0 be arbitrary. We can suppose without loss of generality that y > 0 for all $t > t_0$.

We assert that the function y'(t) has at most one zero on (t_0, ∞) . Indeed, if $t_1 \in (t_0, \infty)$ is a zero of y', then

$$F[y(t_1), a] = (-2y(t_1) y''(t_1) - 2A(t_1) y^2(t_1)) \exp\{\{\int_{a}^{t_1} p(t) dt\}\} > 0$$

and hence $y''(t_1) < 0$. Consequently t_1 is the unique zero.

Let $c > t_1 > t_0$. Then $y(t) y'(t) \neq 0$ holds on $[c, \infty)$. Now we will show that

y' > 0. Suppose on the contrary that y' < 0 for $t \ge c$. If $t_2 \in [c, \infty)$ is a zero of y'', then from (H) we have

$$y''(t) L(t, t_2) = -\int_{t_2}^t (2Ay' + (A' + b) y) L(s, t_2) ds > 0,$$

and on $[d, \infty)$, $d > t_2 \ge c$, it must be $y'' \ne 0$. Let y'' < 0. Then y' is a negative and decreasing function and $y(t) \le y'(d) (t - d) + y(d)$ holds on $[d, \infty)$ which is a contradiction with y > 0. If y'' > 0 for all t > d, we have from (S)

y''(t) = -p(t) y''(t) - 2A(t) y'(t) - (A'(t) + b(t)) y(t) > 0,

thus $y''(t) \ge y''(d)$ and by integration of this inequality from d to t we obtain y'(t) = y''(d) (t - d) + y'(d) which is a contradiction for y' < 0 on $[d, \infty)$.

Thus we proved that y(t) y'(t) > 0 on $[c, \infty)$.

Lemma 5. Let $A(t) \ge 0$, $p(t) \le 0$, $A'(t) + b(t) \le 0$ and $b(t) - A(t) p(t) \le 0$. If $\int_{a}^{\infty} (A(t) p(t) - b(t)) L(t, a) dt = \infty$ and y(t) is a nontrivial solution of the equation (S) satisfying the inequality F[y, a] > 0, then y(t) is an oscillatory solution.

Proof: Let $y \neq 0$ be a nonoscillatory solution of the equation (S) and F[y, a] > 0on $[a, \infty)$. By Lemma 4 there exists $c \in [a, \infty)$ such that y(t) y'(t) > 0 on $[c, \infty)$. We can suppose without loss of generality that y > 0. Then for abritrary $d \geq c$ there exists a positive constant K such that we can put $y(t) \geq K$ on $[d, \infty)$. From (F) we have

$$F[y(c), c] \ge K^2 \int_c (A(s) p(s) - b(s)) L(s, c) ds \to \infty \quad \text{as } t \to \infty$$

which is a contradiction and y(t) cannot be nonoscillatory.

Lemma 6. Let $A(t) \ge 0$, $p(t) \le 0$, $A'(t) + b(t) \le 0$, $b(t) - A(t) p(t) \le 0$. If $\int_{a}^{\infty} (Ap - b) L(t, a) dt = \infty \text{ then a nontrivial solution } y(t) \text{ of the equation (S) is}$ nonoscillatory iff $c \in [a, \infty)$ exists such that $F[y(c), c] \le 0$.

Proof: The necessity follows from Lemma 5.

Under the given supposition the function F[y, c] is strictly decreasing, thus F[y, c] < 0 on $[d, \infty), d \ge c$.

Let $y(t_0) = 0$ for $t_0 \in [d, \infty)$. Then $F[y(t_0), c] = y'^2(t_0) L(t_0, c) \ge 0$, which is a contradiction. The solution y must be nonoscillatory. Thus the assertion is proved.

Theorem 2. Let $A(t) \ge 0$, $p(t) \le 0$, $A'(t) + b(t) \le 0$, $b(t) - A(t) p(t) \le 0$. If $\int_{a}^{\infty} (Ap - b) L(t, a) dt = \infty$ then the equation (S) has two linearly independent oscillatory solutions.

Proof: Let the solutions $y_1(t)$, $y_2(t)$, $y_3(t)$ of the equation (S) be determined by the initial conditions

$$y_i^{(j)}(a) = \delta_{i, j+1} = \begin{cases} 0 & i \neq j+1 \\ 1 & i = j+1 \end{cases} \quad i = 1, 2, 3, \\ j = 0, 1, 2. \end{cases}$$

Let n > a be positive integers, b_{1n} , b_{3n} and c_{2n} , c_{3n} constants such that the solutions v_n and w_n of the equation (S) defined by

$$v_n(t) = b_{1n}y_1(t) + b_{3n}y_3(t), \qquad b_{1n}^2 + b_{3n}^2 = 1,$$

$$w_n(t) = c_{2n}y_2(t) + c_{3n}y_3(t), \qquad c_{2n}^2 + c_{3n}^2 = 1,$$

satisfy $v_n(n) = w_n(n) = 0$. Then $F[v_n(n), a] \ge 0$, $F[w_n(n), a] \ge 0$ and since F[y, a] is a decreasing function, there holds

(1)
$$F[v_n(t), a] > 0, F[w_n(t), a] > 0$$
 on $[a, n]$.

By Lemma 1 the sequence $\{n_k\}$ exists such that $\{v_{n_k}(t)\}$ converges for $n_k \to \infty$ on every finite subinterval from $[a, \infty)$ uniformly to a function v(t) and there holds $v^{(s)} = b_1 u_1^{(s)} + b_3 u_3^{(s)}$, $s = 0, 1, 2; b_1^2 + b_3^2 = 1$. From (1) it follows that $F[v, a] \ge 0$ on $[a, \infty)$. As F[y, a] is a decreasing function, there must be F[v, a] > 0 on $[a, \infty)$. Otherwise F[v, a] obtains negative values which is a contradiction. We can prove similarly that F[w, a] > 0 and $c_2^2 + c_3^2 = 1$ on $[a, \infty)$.

Solutions v(t), w(t) are oscillatory by Lemma 5. Let the solutions v, w be dependent. As $b_1^2 + b_3^2 = c_2^2 + c_3^2 = 1$ is satisfied, there holds $v(t) = Ky_3(t)$ for some $K \neq 0$. Then v(t) is nonoscillatory by Lemma 6, because $F[y_3(a), a] = 0$ by definition of y_3 , which is a contradiction. We have proved that v(t), w(t) are linearly independent solutions.

This completes the proof.

4. Applications to the canonical form

Now we consider the equation (U) on $J = [a, \infty)$ where $A(t) = (1 + \alpha^2(t))/2 > 1/2$ and $p(t) = A'(t) + b(t) = -\alpha'(t)/\alpha(t)$. Then b(t) = 2A(t)p(t).

Lemma 7. If $\alpha'(t) \leq 0$ and not identically zero on any subinterval of $[a, \infty)$, then the equation (U) has a nonoscillatory solution.

Proof: If $\alpha'(t) \leq 0$, then we obtain $p \geq 0$ and $b - Ap = Ap \geq 0$, and not identically zero on any subinterval of $[a, \infty)$. The equation (U) has a nonoscillatory solution by Lemma 3.

We shall prove similarly

Theorem 3. Let $\alpha'(t) \leq 0$ be not identically zero on any subinterval of $[a, \infty)$. If $\lim \alpha(t) = const > 0$ as $t \to \infty$, then any solution which vanishes at some point is oscillatory.

Proof: It is $\alpha(t) > 0$, $\alpha'(t) \leq 0$ and $\lim \alpha(t) = \text{const} \geq 0$ there exists as $t \to \infty$.

Then we have $\int_{a}^{\infty} p(t) dt = \lim \ln(\alpha(a)/\alpha(t)) < \infty$ if $\lim \alpha(t) > 0$, as $t \to \infty$. The assertion follows from Theorem 1.

Theorem 4. If $\alpha'(t) \ge 0$ and $\lim \alpha(t) = \infty$ as $t \to \infty$, then (i) a nontrivial solution y(t) of the equation (U) is nonoscillatory iff $c \in [a, \infty)$ exists such that $F[y(c), c] \le 0$, (ii) the equation (U) has two linearly independent excillatory solutions

(ii) the equation (U) has two linearly independent oscillatory solutions.

Proof: It must be $A'(t) + b(t) = p(t) \le 0$ and $b(t) - A(t) p(t) = A(t) p(t) \le 0$ for $\alpha'(t) \ge 0$, $A(t) = (1 + \alpha^2(t))/2 > 1/2$. Then we obtain (i) from Lemma 6, (ii) using Theorem 2 with $\int_{a}^{\infty} (Ap - b) L(t, a) dt = \int_{a}^{\infty} A(-p) L(t, a) dt = (\alpha(a)/2) \times$ $\times \int_{a}^{\infty} (1 + \alpha^2) \alpha'/\alpha^2 dt > (\alpha(a)/2) \lim (\alpha(t) - \alpha(a)) = \infty$ as $t \to \infty$ and this completes the proof.

REFERENCES

- [1] Greguš, M.: Oszillatorische Eigenschaften der Lösungen der linear Differentialgleichungen dritter Ordnung y''' + 2Ay' + (A' + b) y = 0, wo $A = A(x) \le 0$ ist, Czech. Math. J., 9 (84) (1959), 416-428.
- [2] Greguš, M.: Über einige Eigenschaften der Lösungen der Differentialgleichungen $y''' + 2Ay' + (A' + b) y = 0, A \leq 0$, Czech. Math. J., 11 (86) (1961), 106–114.
- [3] Hanan, M.: Oscillation criteria for third-order linear differential equation, Pacif. J. Math., 11 (1961), 914-944.
- [4] Lazer, A. C.: The behavior of solutions of the differential equation y''' + p(x) y' + q(x) y = 0, Pacif. J. Math., 17 (1966), 435-465.
- [5] Moravský, L.: Einige oszillatorische und asymptotische Eigenschaften der Lösungen der Differentialgleichung y''' + p(x) y'' + 2A(x) y' + (A'(x) + b(x)) y = 0, Acta F. R. N. Univ. Comen.— Mathematica, 16 (1967).
- [6] Neuman, F.: Geometrical approach to linear differential equations of the n-th order, Rend. di Matem., 5 (1972), 579-602.
- [7] Neuman, F.: Oscillation in linear differential equations, Proceedings of Equadiff III, Brno 1972, 119-125.
- [8] Regenda, J.: On some properties of third-order linear differential equation, Math. Slov., 26 (1976), 3-18.
- [9] Singh, Y. P.: Some oscillation theorems for third order non-linear differential equations, The Yokohama Math. J., 18 (1970), 77-86.
- [10] Singh, Y. P.: The asymptotic behavior of solutions of linear third order differential equations, Proceedings of the American Math. Society, 20 (1969), 309-314.
- [11] Tryhuk, V.: An oscillation criterion for third order linear differential equations, Arch. Math. Brno, 11 (1975), 99-104.
- [12] Zlámal, M.: Asymptotic properties of the solutions of the third order differential equations, Publ. Fac. Sci. Univ. Masaryk, 329 (1951), 159-167.

V. Tryhuk 665 01 Rosice, Husova 1006 Czechoslovakia